Canduac Cacle
The alterinate Contrxackion and Helaxorion ol awucle and
ventyicle mesu.btiné:] N one heaxt beal s known as Castdiac

(’8 cle. [DEPTH OF BIOLOGY]

It s the sequence o1 evenls dwdng a candiac beal.
pusation = 1 min = ¥2 Beols

60 Sec = F2 udc,le

+2 c_cljc,le = 60 second

i C(ch,le - 60 - 0-8 Second
312

Cariduac Event

$ | J
Axtal Event [0-8 secl Ventyicle Events Co-8 sec]
I" . 1 K ' <
Axtiol drastole Axtiol Sastole Ventyicle duastole \Ven. Systole
[0} Sec] [0.1 SecT J [0:0S Sec] [o-3 dec)

@ Rapid inflow porwod (0-03)

(@ Slow inflow peruod (0-02]
‘ tco‘oq
@ Produiastolic ¥elaxation peruod

I[IDEPTH OF BIOLOGY]

Ventxeal S(tjsl:ole. W Tsomelric ¥elaxation peruod [0-08)
J

@) Isomebtwic venty: C. Perupd [0-15]
@R&pid Ejﬂch'on Peruod L[0-05)

@ Slow gjection Peruod



Candiae evenl takes place 1n 0-8 second - Both Atwial and Ventxicle
events take places 1n 0-8 second. Tt toke simmeﬂtaneous% N ot
0 Atxial events » two events takes place.

@ Atsiol diastole

[DEPTH OF BIOLOGY]

@ Atyxial Systole

I1st Atwial diastole , Jdt taKes 0% second: Atxia Cnmple.telg tiued
ba deoxéjge.na:ted blood: and. Atwia appendeges also comp\ei'e_lg
‘L:;Lled in just o-r second - Now Tnd event Astiol s:dstole tokes
place,Tn trus event Atyla become stast to systole it takes
Onlé] 0.1 second - Now the ol blood qoes iInto ventwicle and
Now vent¥icle event tokes plate tt completes n aboul 0-8
second - 2 evenls takes place : Ist Ventsical hastole

[DEPTH OF BIOLOGY] 2nd Ventw col Systole
Tst Ventricol Diastole tokes place in y steps :-
@ Roptd inflow peruod

@ Slow fn,Ll.ow peruo d

[A907019 40 H1d3q]

@) Pnodiastoliec nelaxakion Period
@ Isomelwic ¥elaxakion Pestlod

Pyodiastolic yelaxation peuod ~> Tt Is the pesiod which comes -

just bejove the beaimha ventxicle.
diastole. Tt takes o-0Y Sec.



Rapid mr(ow pouod = In ths peruod » blood fastla [lued
In venkyicle . It take 0:03 Sec.

Stow inflow peod - Tn this period » the (low of blood whi ch

comes in ventncle (s stow [ alter 60 ] .
[DEPTH OF BIOLOGY]
Tt takes 0-2 Second. -

Isomely¥ic nelaxation peruod = Nomhg happen (n thus condikion.

Ind Ventyicle Systole takes place- Tt takes 0-3 Second . It
contaun 3 events.

() Tsomelxic ventsiculayr Contwaction Peruod
(@ Ropid- ecHon Perlod

(W) Stow fi_,l'éthfﬂﬁ peruod

@© Tsometyic Ventyiculay Cont¥ackion -> This peruod takes when

[DEPTH OF BIOLOGY] completion of Atxial events-

Now In this event contxaction n ventyicle stast o3t tho ut

Chanaﬁhg in Blood volume . TIn thusg condition blood 1S not 1n

ox oul fmom ventyicle and the W8 Sound pyoduce -Tt take

ptoce 015 Second.

@ Rapidl E_j'ed:\bn peﬁfocL 5 Tn this event , ventxicle blood [[ou}

‘[wce{u.!.%l Into the AORTA and

: es.
pulmonoy tsutk ond opens the o o YBIES



R s — B N S— R

It takes 0-05 second:  [DEPTH OF BIOLOGY]

Slow Ejechion Period —> In this peruod when blood Ccomes t
AODRTA and puLmonoj% tyunk (N

S{:fmhhg . Tt wdl comes pxessw'\dé' but the AORTA and

Pulmonaﬂﬂg tsunk 15 in 80" (1) So Jkt (s against the grcw‘\%

and blood Jetwin but the Semilunan value axne closed- SO N

tus condition the 'Etow ol Blood iU (¥)Se and due to clpsey

o] Semilunaf valve Due Sound s pyoduced . Tt tokes O-l

Secona:

Totol Hme taKes place in one candiac event only 0-8 sec .

In one minulfe #2 cycle takes place. and o tey thus oL

event’ one condiac cycle Complete. [DEPTHOFBIOLOGY]



